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() T g7 ST &/

(i) g9 8G AT % GTF THT 3Hd 8/

(iii) T HHH 6 & 26 TFH F JINRF AHeq &/
(iv) OT8T 3GegHar 8, e § THiGT 37 753/

Instructions :

(i)  All questions are compulsory.
(ii)  The respective marks are allotted against each question.
(iii)  Internal options are given from Q. Nos. 6 to 26.

(iv) Draw neat and clean labelled diagram whenever required.
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(5X1=5)

|l fAwed g+ —

(i) XRgd FHABROT FH aix + b1y + ¢1 = 0 3R a2x + bay + c2 = 0 FAGR &Y
gefRid xar ®, afe —
@ L*5

(i)

@ Z=2-2

b_1_b_2 C2

(@ -3,-2,-1..cccennnnnn.

(b) 3,6,12................

() 1,3,5. i

@A) 227

g Bl &l fdgall R ufiess &= dTell @1 HEardl © —
(@) <9 @

(b) =

(c) ®Bad @

(d) Sfar

T U veoil # Faifdd IRIRAT arel A9 HEAT § —
(a) #re™

(b) IR

(c) dSgcI®

(d) uTRrmar

o 9 - Tt fedt gear @) giiRiedr T8 81 Iadl?
(a) =

(b)y -15

c) 15%

(d) 0.7
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Choose the correct option -

(i)

(i)

Pair of linear equations aix + b1y + ¢1 = 0 and a2x + b2y + c2 = 0 show

parallel lines if -

(a)

a b

az by

b

a; by ¢

a_bi_a

az by C2

@ G-

Which of the following are not an Arithmetic progression?
@ -3,-2,-1 i

(b) 3,6,12...ccccninnnnn.

() 1,3,5. i,

@) 225

The line which intersects the circle at two points is called -
(a) tangent

(b) radius

(c) secant

(d) chord

The value among the observations which occurs with maximum
frequency is called -

(@) Mean

(b) Median

(c) Mode

(d) Probability

Which of the following cannot be the probability of any event?
(a) =

(b) -1.5

(c) 15%

(d) 0.7
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Rad =i o) tﬁ%‘rf a”ﬂ"\lﬂ'q - (5)(1:5)

(i) el B 9898 @& BT oo IS B Fhd B |

(i) fgara BT axt+bx+c=0, a#0 ¥ IE b2-4ac=0, A T oo
.................................... B B |

) I LIS K TN S BId 2 |

(iv) I T o5 W@ & a1 ST I BT BT 8B FAT o BRI |

(v) Br=m v ae 99 & e e, et S17 0 2, BT 80
BT |

Fill in the blanks -

(i)  Acubic polynomialcan have at most..............coooiiiiiiiinnne. zeroes.
(i) In a quadratic equation ax? + bx + ¢ = 0, a # 0 if b?- 4ac = 0, then roots

f=faRaa & 9w /e falae — (5x1=5)

: .6 .
) uRey 7o P S JER A =

(
(iy Rg® IgUT BT Al AT aF BT B |

(i) I B el g W el vy wef fig & o arell B w® &9 8t 7 )
(iv) ST DIV BT A9 90° ¥ 31fAH BT AT |

(

V) W, Aedd Ud d9geld deald Ugil & A g |

Write True/False in the following -

. : 6 N : :
(i)  Rational number = have a terminating decimal expansion.
(i)  The graph of a linear polynomial is always a curve.

(i)  The tangent at any point of a circle is perpendicular to the radius through
the point of contact.

(iv) Measure of angle of elevation should be greater than 90°.

(v) Mean, Median and Mode are measure of central tendency.
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U BT U e /TR H IR forRau— (5%1=5)
) a8 Rad FHIBRU I TS DS B 21 B IH HBA oo

(
(i) feard FHHRUT 8o B Bl G oy |

(i) % FEaR S (A.P.) Riers et @ s aRfT ), deard 8
(iv) <1 gl o FoaRil § 2:3 &1 AU 7, 1 SAd &bl H T 3T BIIT?
(

v) g b fIH B AT BT GF forfay |

Write the answers in one word/sentence-
(i) A pair of linear equations which has no solution is called...............
(i)  Write formula to solve quadratic equation.

(i) An Arithmetic progression (A.P.) which have a finite number of terms is

(iv) Ratio between radii of two circles is 2:3, then what will be ratio in their
areas?

(v)  Write formula of volume of frustum of cone.

R SIS I (5Xx1=5)
Match the correct column-
W™ A’ (column -A) W™ ¥ (column -B)
(A) (B)
(i)  2(sin20 + cos26) (a) V3
(i) sin30° (b) sec?0
(i) tan60° (c) 2
w 0 %
(v) cosec?6 - 1 (e) 1
(f) cos60°
(g) cot?6
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6 HCF (306, 657) = 9 f&am €, d LCM (306, 657) ST &I1oTQ | @)

HCF (306, 657) = 9 is given, then find LCM (306, 657).

3erar/ OR

26 T4 91 &1 LCM 3R HCF =1d &Ifviy |

Find LCM and HCF of 26 and 91.
u7 fgord 9gus x2— 3 & YD A B | @)

Find zeroes of quadratic polynomial x2— 3.

3erar/ OR

ggUSl @l 91 & AER W Wad ggue’ vd fgurd ague’ & aR9mid Sy |

Define ‘linear polynomial’ and ‘quadratic polynomial’ on the basis of degree of
polynomials.

ue fawgeli (2, 3) 3R (4, 4) & §a T =@ HIY | )
Find distance between points (2, 3) and (4, 4).

3rerar / OR
afe (3, 4) 3R (5,2) frl g & =9 & RRI & fdwie € @1 9d @ &= @

fHreee md BT |
If (3, 4) and (5, 2) are co — ordinates of the end — points of diameter of a circle,

then find co-ordinates of centre of the circle.
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g9 [l 9w T T IR IBIA WR D HU Hald R I’ 34 &1 yiliear sia
FIRY | v
Find the probability of getting ‘Head’ on upper face, when a coin is tossed

once.

3erar/ OR
T RaerSt ‘da iR AT S &1 U HY Wil © | dod gRT HE Siiad &l

UIRIAT 0.38 &, AT §AT & Hd Sild I Uil S1d Hifor |
Two players ‘Kanchan’ and ‘Huma’ play a tennis match. Probability of
Kanchan'’s winning the match is 0.38, then find the probability of Huma winning

the match.

710 B 9 @ (6 IR IBTA- W FHRIAT 3 B YIS S1d DI | @)

Find the probability of getting ‘even number’ in a single throw of die.

STQTCHZOR
Udh 9 & g U] T © RTd Baadl R fAefarRad s sifdd €

A B C D E A

3 U BT T IR Bep R ‘A’ UTd B BT Ul i BT |

A child has a die whose faces show the letters as given below:

A B C D E A

The die is thrown once. What is the probability of getting ‘A’.
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g11 g oIig — (3)

sin6—2sin36
————— = tanb
2c0s30—cosO

Prove that —

sin6—2sin30
—_— = tanO
2cos30—cosO

34T / OR
7 1ot @ sin25° cos65° + cos25° sing5°

Evaluate : sin25° cos65° + cos25° sin65°

g12 fI5 (- 4, 6) 953l A (- 6,10) 3R B (3, - 8) &I SIS alel NERES Bl b guTad
# faifora sxar 22 (3)
In what ratio does the point (- 4, 6) divide the line segment joining the points
A (-8, 10) and B (3, - 8)?
3erar/ OR
I S &1 &Emd d aiforg s o § —
(2. 3), (-1, 0) 3R (2, —4)

Find the area of the triangle whose vertices are: (2, 3), (-1, 0) and (2, - 4).

U3 T Hhwul gl o Boarg 5 . 9T 3 HHL B | 99 I BT S il &) ddTg S
PTG, ST BIC T BT WL BT 8 | @3)

Two concentric circles are of radii. 5 cm and 3 cm. Find the length of the chord

of the larger circle which touches the smaller circle.
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e g Q 9 U g9 R Wl @1 B ddiE 24 WAL TAT Q B = F g 25 FAL

g, 1 g B F3odn =1 B |

From a point Q, the length of the tangent to a circle is 24 cm and the distance

of Q from the centre is 25 cm, then find radius of circle.

a1 gt @1 B w8 W ok 6 WAL €| S g9 @ B S S fase

SIS §7 QM gl & SFBAl B AN P IR T |

The radii of two circles are 8 cm and 6 cm respectively. Find the radius of the

circle having area equal to the sum of the areas of the two circles.

3erar/ OR
Udh g S AGATY BT SFHA S Difory, fordat aRkfer 22 I 2 |

Find the area of a quadrant of a circle whose circumference is 22 cm.
g PINT : V3 U ey wm 2|
Prove that: /3 is irrational number.

gerar/ OR

135 3IR 225 BT HCF ‘Ifders’ favroe TeiRe™ &1 YT &xd S1d HIToTY |

Use Euclid’s division algorithm to find HCF of 135 and 225.
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u16 fgord 98U x2+ 7x + 10 & D S DI AR DI TAT UMDl & dra Fae

17

DI AT DI S DI | (a)
Find the zeroes of the quadratic polynomial x? + 7x + 10 and verify the

relationship between the zeroes and the coefficients.

gerar/ OR

TgUS x3- 3x2+ 5X - 3B x2- 2 9T QR ANTHA AT YThe A DITOTT |

Divide the polynomial x3 - 3x?2 + 5x - 3 by x2- 2 and find the quotient and
remainder.

TS AR S0 (ALP.) # 50 Ug €, foar T g 12 ® 3R it ug 106 B
SAPBT 2941 U T B | (4)
An A.P. consists of 50 terms of which 3 term is 12 and the last term is 106.

Find the 29" term.

3rerar / OR
sl AR 9ol (A.P.) &1 UM U< 5, 3ifcH Ug 45 3R IRT 400 © | UGT B H&AT
3R ATdRIR ST ST |

The first term of an AP is 5, the last term is 45 and the sum is 400. Find the

number of terms and the common difference.

[100] run-10 Page 10 of 16


http://www.mpboardonline.com

www.mpboardonline.com

U183l 3 ¥ Us Ug T SICT © AR TSI g3 91T §9 RE 4 Ol © fb Us &l
Rrar S &7 g1 AT ® 3R 39 A1 30° BT BV 4T & | U B ure— fag
@ 0, TTE U BT PR T B BT @, 8 W 2| US B SIS T IR | 4)
A tree breaks due to storm and the broken part bends so that the top of the
tree touches the ground making an angle 30° with it. The distance between the

foot of the tree to the point where the top touches the ground is 8 m. Find the

height of the tree.

STWTZOR
7 ®). & 999 B RBRIR A Uh dadl <R & RBRER BT I~I9 10T 60° & (IR 39

UTE 6T AT BIT 45° B | TMAR BT $HaTs ST DHIFTT |
From the top of a 7 m high building the angle of elevation of the top of a cable
tower is 60°and the angle of depression of its foot is 45°. Determine the height

of the tower.

u19 ‘P & f wmi & fog, 9 aiiexel & g &1 U sifgcdia gat 27 (4)

4x + Py+8=0
2x+2y+2=0

For which values of ‘P’ does the pair of equations given below has unique

solution?
4x + Py+8=0
2x+2y+2=0
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gerar/ OR

TP fohbe SH & ®IF 9 7 dool TAT 6 ¢ 38003 H WIIET | 918 H SEAH 3 dool Tl

5 15 17503 H TNIGT | YD ool 3R TAD g BT oI A1 DI |

The coach of a cricket team buys 7 bats and 6 balls for ¥ 3800. Later, she buys
3 bats and 5 balls for ¥ 1750. Find the cost of each bat and each ball.

Y20 CURINIRY yHg” ford vd Rig #Y | (4)
State and prove “Pythagoras Theorem”

3erar/ OR

Ife AABC ~ ADEF ? 3R 39 &5thol Hy: 64 A¥12 3k 121 9@ 28| afe EF =
15.4 3. 81 I, BC S ST |

If AABC ~ ADEF and their areas be respectively, 64 cm? and 121 cm?. If EF =
15.4 cm, then find BC.

U21 TP G &) e B gS @ dd1s 14 I, 2| 39 9GS 8N 5 e # fd amwa
ST HINTY | (4)
The length of the minute hand of a clock is 14 cm. Find the area swept by the

minute hand in 5 minutes.
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a1/ OR
<1 T8 i H BHifhd 9N &1 &F%hd Sd dIfoY, afa ABCD 4ol 14 JHI. &7

Ud of § 2 APD iR BPC 3T aiefgd 2 |

In given figure, Find the area of the shaded region, if ABCD is a square of side

14 cm and APD and BPC are semicircles.

v

U422 FHIGRU 5x2—6x —2 =0 & Hel F1d DI | (5)

Find roots of the equation 5x? — 6x — 2 = 0.

3erar/ OR
T FHABIT BT @ FaE $HD IR | 7 9L HH 2| I Hof 13 I @

o 3= ST YOIy S HIAY |
The altitude of a right triangle is 7 cm less than its base. If the hypotenuse is

13 cm, then find the other two sides.

¥23 Tdh AP B ABC #H, fST9&1 S1o1 B F¥9aI0T 7, AT tanA = 1, a1 Fmfua
I fb 2sinA cosA = 1 ()

In a right triangle ABC; right - angled at B, if tanA = 1, then verify that
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a1/ OR

I sin(A — B) = %,COS(A-I—B): %,GEWT A>Bar 0°<A+B<90°ar A
3R B S I |
If sin (A — B) = %,cos (A+B) = %,Where A >B and 0° < A + B £90°, then
find A and B.

U24 4 WAL, 5 I AR 6 FHL YOI Tl Uh S B @A BIRTY AR R sdD
# ST e )
Construct a triangle of sides 4cm, 5cm and 6¢cm and then a triangle similar to

it whose sides areg of the corresponding sides of the first triangle.

3erar/ OR
6 9. BT &1 v 91 Hifay | o | 10 9. R Rd U fag A g W el
RGN TH DI AT DI AR T & U ol |

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and write steps of construction.

U25 6 WAL, 8 WAL 3R 10 WL STl arel o1g @ A S Al Bl UTATRR U aST

ST TTeAT ST ST © | 39 Tl a1 33T =11 Iy | (5)

Metallic spheres of radii 6cm, 8cm and 10cm respectively, are melted to form

a single solid sphere. Find the radius of the resulting sphere.
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gerar/ OR

g Racli a1 35 ¥ alel U Ui & MBR &I &, W Sl BRI a1t
ISl TR ARG 2| 39 Racl @1 dqof Sar$ 155 @i 8| 39 Rael &1
Aol U &Ewel S BT |

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of
same radius. The total height of the toy is 15.5 cm. Find the total surface area

of the toy.
u26 frefeiRad AR {6 Aigedl & 25 URARI § Ao W gY QfNd T B Sl

e ©)
<% @ | 100-150 | 150-200 | 200-250 | 250-300 | 300 - 350

(Fuat )

RIREIN 4 5 12 2 2

DT A=

WIS TR g3 HIEd &g ST DIoTY |

The table below shows the daily expenditure on food of 25 households in a

locality-

Daily 100 - 150 | 150 - 200 | 200 - 250 | 250 - 300 | 300 - 350
Expenditure

(in%)

Number of 4 5 12 2 2

households

Find the mean daily expenditure on food.
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a1/ OR
fr=faRaad oifars, 225 fasTell USRIl & Ufdrd Sfaiarer (8€i #) &1 gar <d &
0-20 20 - 40 40-60 | 60-80 | 80-100 | 100 -120
(efet )
JRERT 10 35 52 61 38 29

SUBRUN BT TGl Sila- Plel I DITOTT |

The following data gives the information on the observed lifetimes (in hours)

of 225 electrical components:

Lifetimes 0-20|20-40|40-60 | 60-80|80-100 | 100- 120
(in hours)
Frequency 10 35 52 61 38 29

Determine the mode lifetimes of the components.
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